



06/05/2023 08:00 AM | install 06/05/2023 07:15 PM | strike

PO:

Shipping Address: Hotel Bel Air Invoice Date:

Due Date: Upon Receipt

Salesperson: Leigh Carter

MERRYL BROWN EVENTS LLC.

		Salesperson. Leigh Carter			
Description		Qtty	Price		Total
General					
	Panels - Hedge Panel 4'x10'	5	\$175.00	T	\$875.00
	Dining Chairs - Nice - Gold Frame	16	\$25.00	T	\$400.00
· · · · · · · · · · · · · · · · · · ·	Custom Dining Chair Cushion Cover - Nice green velvet	16	\$55.00	T	\$880.00
	Custom Table Linen - 120"D green velvet	4	\$325.00	Т	\$1,300.00
	Custom Table Linen - 132"D green velvet	3	\$350.00	Т	\$1,050.00
	Sofas - Hollywood - Emerald Green - 8'	4	\$400.00	T	\$1,600.00
	Club & Lounge Chairs - Hollywood - Club Chair Emerald Green W/ Gold Frame	4	\$200.00	Т	\$800.00
	Ottomans - Hollywood - Emerald Green W/ Brass Base	12	\$40.00	Т	\$480.00
	Banquettes - Pasadena - Straight Ivory W/ Skirt 6'	4	\$300.00	T	\$1,200.00
	Custom Banquette Cover - 6' green velvet	4	\$600.00	T	\$2,400.00
H	Club & Lounge Chairs - Tokyo - Accent Chair White W/ Gold	4	\$75.00	T	\$300.00
RES S	Club & Lounge Chairs - Tokyo - Accent Chair Covers Tokyo Accent Chairs - Emerald Green Cover	4	\$0.00	Т	\$0.00

Description		Qtty	Price		Total
	Coffee Tables - Paris - Gold	8	\$200.00	Т	\$1,600.00
	Barstools - Buenos Aires - Gold	8	\$25.00	T	\$200.00
	Barstools - Buenos Aires - Cushion Covers Barstool Barstool - Buenos Aires - Cushion Cover: Emerald Green Velvet	8	\$0.00	Т	\$0.00
	Accent Pillows green velvet	24	\$22.00	Т	\$528.00
	Wall Mirrors - Venice - Wall Mirror Floral Scroll to rig from drape on wall	3	\$150.00	Т	\$450.00
The state of the s	Communal Tables - Nice - Mirror Top W/ Gold Frame	3	\$200.00	T	\$600.00
	Buffets & Display Tables - Boston - Buffet 8' painted gold	2	\$550.00	Т	\$1,100.00
	Barback - Bora Bora - Gold (3 Piece Set)	2	\$175.00	Т	\$350.00
	Accent Table - Madrid - Fuji Marble Top	8	\$100.00	Т	\$800.00
	Accent Table - Madrid - Astrew Marble Top	4	\$100.00	T	\$400.00
	Accent Table - Madrid - Giusti Marble Top	3	\$100.00	T	\$300.00
	Club & Lounge Chairs - Beverly Hills - Accent Chair Blush W/ Gold Legs	4	\$200.00	T	\$800.00
	Custom Chair Cushion - Beverly Hills green velvet	4	\$400.00	Т	\$1,600.00
	Small Dining Tables - Madrid - Gold Leaf Hexagonal Base 54"	1	\$375.00	Т	\$375.00

Description		Qtty	Price		Total
	Stand Up Tables - Bucharest - Multicolor painted gold	6	\$175.00	Т	\$1,050.00
			Total General		\$21,438.00
oresidential s	uite				
	Accent Pillow - Dark Blue Dupioni W/ Piping Cover 16" x 16"	12	\$22.00	T	\$264.00
	Dining Table - Las Vegas - Colored Top & Base 6'x40" painted gold	1	\$450.00	Т	\$450.00
	Barback - Tokyo - Straight Basic 4' - Metal painted gold	2	\$225.00	T	\$450.00
	Dining Chairs - Nice - Gold Frame (6) primary bedroom & (6) dining room	12	\$25.00	T	\$300.00
	Custom Dining Chair Cushion Cover - Nice taupe velvet	12	\$55.00	Т	\$660.00
		Tot	Total presidential suite		\$2,124.00
dditions					
	Panels - Hedge Panel 4'x10'	1	\$175.00	T	\$175.00
	Barback - Tokyo - Straight Basic 8' - Metal painted gold	2	\$275.00	Т	\$550.00
			Total addition	ons	\$725.00
Services					
	installers for install	8	\$500.00		\$4,000.00
	installers for strike	8	\$500.00		\$4,000.00
	trucking	3	\$400.00	Т	\$1,200.00
	supervisor onsite	1	\$800.00		\$800.00
	pre-produciton/floorplans	1	\$2,000.00		\$2,000.00
	packing & supplies	1	\$750.00		\$750.00

Please make checks payable to Revelry, Inc.

Total Products: \$24,287.00

Total Labor/Services/Misc: \$12,750.00

Taxes: \$2,421.27

Discounts: (\$0.00) Total: \$39,458.27

Payments: (\$18,990.00)

Balance: \$20,468.27